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Wit ERAER TR ER
% # s - BRHE By B il & & 1

BRI 13,842,160 + 312,156 14,154,316
EEAGE 13,842, 160
EERE 312,156
Z Ot R 13,842,160 x 53.85% (35% + (1 — 35% ) ) 7,454, 003
RHRE 14,154,316 + 7,454,003 21,608, 319
—REEEE 21,608,319 x 53.85% ( 35% = (1 — 35%) ) — 4,398 11,631, 681
KBS 21,608,319 + 11,631, 681 33, 240, 000
B FEZET 33,240,000 x 10.00% 3,324, 000
EBERREM 33,240,000 + 3,324,000 36, 564, 000




EEARK BEEEE TR 2
% o 1% - Bk By B i i B E
EiER 14, 154, 316
LR E T 14, 154, 316
LR E T 14, 154, 316
HEEE 448, 100
HEEE 448, 100
1 BB .00 448,100 448, 100
%
BIRTE 11, 832, 060
EROE LIRS 8, 298, 060
2 BEAICEET 5%ET .00 1,507,930 1,507, 930
%
3 LUREEREE ARl RE 9 B4R ET .00 4,985, 450 4,985, 450
%
4 BREEMOEKEREICET S5 .00 1,082, 280 1,082, 280
=
5 A2-A3 LEERIZ(CEET H1&Et .00 722, 400 722, 400
=
B (-12m) OEIHREHSE 1,497, 800
6 FRIELH DN IZBET S5t .00 1,497, 800 1,497, 800
%
SABhRIR (F8) DEIHREE 2,036, 200
T HREMETECRET SR .00 1,574, 350 1,574, 350
%
8 BEHOEE .00 461, 850 461, 850




EEARK BEEEE TR 2
% o 1% - Bk By B i ¢ &= B E

Wi - | 583, 500
Wi - | 583, 500
9 ERE .00 126, 500 126, 500

[a]
10 hRAsReE 2.00 126, 500 253, 000

[a]
11 RRW|eE .00 204,000 204, 000

[a]
BE 487, 000
BE 487, 000
12 BE .00 487,000 487, 000

%
REY 491, 500
REY 491, 500
13 ABIARERDIER .00 20,150 20, 150

%
14 ¥F5SERREER .00 471, 350 471, 350

%
EERE 312, 156
EHXARE 127,716
15 EXARE .00 127,716 127,716

=
RE 160, 000
16 XHHER .00 160, 000 160, 000

ES
& 24,440
17 k& .00 24, 440 24,440

%




RER-FET/\vr— BB S TR LR
&5 1
2 : SHEER EEL
2 ;;F 1B - R By B B 58 = % =
HEE
A 1.00 717, 500. 00 717, 500
X A (%3
A 1.50 66, 900. 00 100, 350
BE (A)
A 2.50 59, 600. 00 149, 000
BET (B)
A 2.50 48, 500. 00 121, 250
& it YEZERED 1. 00K 448, 100. 00 448,100
BE 2
L% . EEAMICEET AR5t XLy
2 7 1B - IR B B B i S % =
X fE kA (%ED
A 1.00 66, 900. 00 66, 900
e (A)
A 3.70 59, 600. 00 220, 520
e (B)
A 9.30 48, 500. 00 451, 050
HEm (C)
A 11.30 40, 300. 00 455, 390
-]
A 8.70 36, 100. 00 314,070
=) 5 YEZEREN : 1.00 1, 507, 930. 00 ,507, 930




RER-FET/\vr— BB S TR LR
&5 :3
2% LRSI SRICET B|REt EEL
2 7 1B - R By 8 B2 B ff ¢ H w = w =
X A (%3
A 6.30 66, 900. 00 421,470
BE (A)
A 19. 30 59, 600. 00 1, 150, 280
BET (B)
A 25.30 48, 500. 00 1,227, 050
H®ET (C)
A 35. 00 40, 300. 00 1, 410, 500
-
A 21.50 36, 100. 00 7176, 150
& H YEZERED 1. 00K 4,985, 450. 00 4,985, 450
=:4
2% BREEBOHKBRRICET 85 EEL)
2 7 1B - IR B B B B & =@ i % =
e (A)
A 1.70 59, 600. 00 101, 320
e (B)
A 7.70 48, 500. 00 373, 450
HEm (C)
A 9.70 40, 300. 00 390, 910
Biia
A 6.00 36, 100. 00 216, 600
=) 5 YEZEREN : 1.00 1,082, 280. 00 1,082, 280
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=:5
& : A2-A3 EERTZ(CRAY ZiREt IEE L)
2 7 1B - R By B B ff ¢ H w = w =
BE (A)
A 1.00 59, 600. 00 59, 600
BET (B)
A 4.50 48, 500. 00 218, 250
H®ET (C)
A 7.00 40, 300. 00 282,100
-
A 4.50 36, 100. 00 162, 450
& H YEZERED 1. 00K 722, 400. 00 722, 400
EES 6
2% : RIELHOLS (BT Hiast IEEL
2 7 1B - IR B B B & =@ i % =
F AR (BED
A 4.00 66, 900. 00 267, 600
e (A)
A 4.50 59, 600. 00 268, 200
e (B)
A 5.00 48, 500. 00 242, 500
HEm (C)
A 8.00 40, 300. 00 322, 400
Biia
A 11.00 36, 100. 00 397,100
=) 5 YEZEREN : 1.00 1, 497, 800. 00 1, 497, 800




R &I/ \vr—2

ERESFETRMhES

&5 1
&% eI EICET 285 IEED
£ b3 B - BIKTE =-Fiv] = B i ® 5 W E w =
F{EHRAm GRED
A 4.00 66, 900. 00 267, 600
HEm (A)
A 7.00 59, 600. 00 417, 200
HEm (B)
A 8.50 48, 500. 00 412, 250
HEh (C)
A 10. 50 40, 300. 00 423, 150
i &
A 1.50 36, 100. 00 54,150
& B 1EZRERN  1.00K 1,574, 350. 00 1,574, 350
%58
& BEHOERE IEED
% b R - KT BT B = B O{f * % W E H %
FEHAR (F%E)
A 2.00 66, 900. 00 133, 800
HER (A)
A 3.00 59, 600. 00 178, 800
HER (B)
A 1.00 48, 500. 00 48, 500
HER (C)
A 2.50 40, 300. 00 100, 750
& it 1E%8ESN : 1.00=C 461, 850. 00 461, 850
59
% %5 : BAGE ZEP
% L] g - BIRTiE ==Rivi #H = B @ & E W E i =
FEHAR (F%E)
A 1.00 66, 900. 00 66, 900
HER (A)
A 1.00 59, 600. 00 59, 600
= it YE%HES - 1.00[E 126, 500. 00 126, 500




RER-FET/\vr— BB S TR LR
E#5:10
& hRHE 1[E 4 Y
2 7 1B - R By B 1 i w = % =
X A (%3
A 1.00 66, 900. 00 66, 900
BE (A)
A 1.00 59, 600. 00 59, 600
& it YEZERES ;- 1.00[E 126, 500. 00 126, 500
&S 1
2 BRRE 1[4 Y
2 7 1B - IR B B 1 i i % =
R E
A 1.00 717, 500. 00 717, 500
F AR (BED
A 1.00 66, 900. 00 66, 900
e (A)
A 1.00 59, 600. 00 59, 600
=) it YEZERES : 1.00[E 204, 000. 00 204, 000
&S 12
2% - BE T
2 7 1B - R Bif B i %8 w = B =
FEFE (%D
A 3.00 66, 900. 00 200, 700
RET (A)
A 2.50 59, 600. 00 149, 000
®Em (B)
A 2.00 48, 500. 00 97, 000
HEm (C)
A 1.00 40, 300. 00 40, 300
=) it YEZEREN : 1.00 487, 000. 00 487, 000




RER-FET/\vr— BB S TR LR
E#5 .13
2% AERREROER EE)
2 7 1B - R By B B ff i w = % =
H®ET (C)
A 0.50 40, 300. 00 20, 150
& it YEZERED 1. 00K 20, 150. 00 20, 150
&S 14
2 EBEERREER EEL)
2 7 1B - IR B B B i i % =
X A (%3
A 1.50 66, 900. 00 100, 350
e (A)
A 2.50 59, 600. 00 149, 000
e (B)
A 2.50 48, 500. 00 121, 250
HEm (C)
A 2.50 40, 300. 00 100, 750
=) it YEZEREN  1.00=K 471, 350. 00 471, 350
&S : 15
2% ERASE T
2 7 1B - R Bif B B ff P i B =
EBRmE
=® 1.00 127,716. 00 127,716
=) it YEZEREN : 1.00 127,716. 00 127,716




R &I/ \vr—2

ERESFETRMhES

&S .16
£ EBRESR IEEP)
£ B - BIKTE Bify 2 B {f ] i
(BHRAE
= 1.00 160, 000. 00 160, 000
& &t 1EZ%EBER - 1.00K 160, 000. 00 160, 000
=17
&% kB 13ty
£ B - BIKTE Bify 2 B {f ] i
&
1.00 24, 440.00 24,440
& B 1EZEREH : 1.00 24, 440. 00 24. 440




